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HRE R No. 4
E5t%  BIEESEE =0.550m
RZEEFZR) = 100. 000 (B ~Fmm)

(GTERYA) =fiE RRPEIAH = 10°

ZAF No. J&32 (mm) = & (mm) i (mm*)
<1 73. 73418 8.52207 314.184
<2> 53.01288 6.55171 173. 663
<3 40. 75596 5.36652 109. 359
<4> 33.38324 4.61941 77.105
<5> 28.73579 4.13570 59. 421
<6> 25.72676 3.82557 49.210
<D 23.79753 3.64097 43.323
<8> 22.79339 3.90300 44. 481
<9> 23.61267 3.92785 46.374
<10> 25.22796 4.06903 51.327
<11> 217.90470 4.34739 60. 656
<12> 32.16294 4.80865 71.330
<13 39. 03428 5.54245 108. 173
<14> 50. 63875 6. 72655 170. 312
<15> 70. 86791 8.72628 309. 207
=HEESE 1694. 125

REE (RRTLA = 144.1397) 12578. 481
mHER - ZHEREH - kKTAFEER 10884. 356
No.4 XREHMETE 31415.927
(31415.927 - 10884.356) / 31415.927 * 100 = 65. 35
(GrEgMAY =fEE KZeHR = 65.35 %
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EStE  BIEESE =0.550m

R ERER  KEEEER) = 100000 (Estm)

(GHEEMA)
& BRERX KXZEX
No. izt &S | AL | {WfAh [Rxcos(h)
(F£~tm) | (Estm) ) () | (E~tmm)

(2) 1.903| 8.182| -98.084| 76.909| 22.649
(13) 6.384| 5.849|-162.839| 42.495 73.734
(14) 5.875| 5.849| -18.701| 44.872| 70.868
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FZEEAER) = 100. 000 (E<Hmm)
(HERYA] SREHE

ESF

RASEIA = 10°

ZAF No. J&32 (mm) = & (mm) & ()
[1] 80. 73363 5.79488 233.921
[2] 75. 88142 9.57446 363. 262
[3] 55. 08506 7.38983 203.535
[4] 42.73513 6. 09662 130. 270
[5] 35. 30407 5.29265 93.426
[6] 30. 66079 4.78552 73. 364
[71 217.72724 4.47829 62. 085
[8] 25. 94889 4.32116 56. 065
[9] 25. 03937 4.29124 53.725

[10] 25. 40615 4.29127 54.512
[11] 26. 73466 4.38453 58. 609
[12] 29. 05388 4.61403 67.028
[13] 32.76639 5.01480 82.158
[14] 38. 64835 5.65700 109. 317
[15] 48. 22790 6.67732 161.017
[16] 64. 41896 8. 35481 269.104
[171 89. 79251 11.27808 506. 344
=REESET 25717.742

REEE (RRPDA = 163.4187) 14260. 932
mHER - ZHEREH - kKTAFEER 11683. 190
No.4 XREHMETE 31415.927

(31415.927 - 11683.190) / 31415.927 * 100 = 62. 81

[(BEeYA] Z=/RHE RZEHE = 62.81 %
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E5t% BIEESS = 0.550 m
s ERER  RERHER = 100,000 (tm)
[EE£EmA]
g BEER RZEH
No. izt & | Aluf | MAh |Rxcos(h)
(E~tm) | (E<tm) ) () | (B~tmm)
{2} 5. 683 5.000|-166.427| 41.343| 75.077
{3} 9. 252 5.0000 -7.430| 28.388| 87.975
{4} 6.815 5.000|-170.848| 36.265 80.628
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